
Y3 – Autumn – Block 2 – Step 8 – Add and subtract 100s Answers

Question Answer

1 351 + 300 = 651

2

a) 626
b) 526
c) 326
d) 26

3

a) 400 + 300 = 700
430 + 300 = 730
439 + 300 = 739
300 + 477 = 777

b) 700 – 200 = 500
780 – 200 = 580
783 – 200 = 583
701 – 200 = 501

Only the hundreds digit changes.

4

a)

b)

c)

d)

The last two digits of one of the numbers are the same as the last two digits of the total.
The hundreds digits add up to the number of hundreds in the total.

300

600

672

100



Y3 – Autumn – Block 2 – Step 8 – Add and subtract 100s Answers (continued)

Question Answer

5

a) 500
b) 200
c) 200
d) 400
e) 608
f) 924
g) 449
h) 400
i) 100
j) 99

6 2 hundreds

7
a) 595
b) 700

8 6


